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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [["I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, ’'optETcl’],
T

"LAI",

" optEtRate’ ]
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN',

"s1SetVI' 1]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-13 0
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P3-13
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P3-13

BfiE) | BRI (7)) | EME (EH/HK) | XS EFF

07:15 294 150.0 RS {Ri&e07:15 Bz (REERE)
08:00 294 150.0 A5 {Ri%@08:00 Bz (RFEHEEZE)
08:45 294 150.0 B 1Rige08:45 Bzh (REEESE)
09:30 294 150.0 RE| 1Ri&e09:30 Bzl (RFERS)
10:15 294 150.0 S| Ri%e10:15 Bz (REERESR)
10:55 294 150.0 B 1Rige10:55 Bzh (REEESE)
11:35 294 150.0 S| Rige11:35 Bz (REAERE)
12:25 294 150.0 S| Rige12:25 Bz (REAERESR)
13:10 294 150.0 Bl Rige13:10 Bal (REAEHE)
13:50 294 150.0 S| Rige13:50 BHa (REAEHE)
14:35 294 150.0 BE| Rige14:35 Bz (REAERSE)
15:25 294 150.0 | {Rige15:25 Bzh (REERSE)
16:15 294 150. 0 S| Ri%e16:15 Bz (REERESE)
249t 3822.0 (13%) 1950. 0 3Z i KEC: 2080.0, PH: 5.6

MEREHERE STMAEARS (191.0 : 141.0), AEEETF—@E XAH4
ZRIAEBRIERE141.0 ml.
FHERECE (2323.0 vs 5157.0) 5



P3-13_0, Day=55 (2025-05-25)

T e g g e S B S g g
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-13

BflE | GEBRTK () | ERE(EA/K) | XS IR

07:15 294 150.0 | BE| {RiRe07:15 B CGRAMEREE)
07:55 294 150.0 RS {Ri&e07:55 Hzi (REMERSE)
08:40 294 150.0 BE| 1Ri%e08:40 Bz (KRFERSE)
09:20 294 150.0 fg| 1Ri%e09:20 B (KL
10:00 294 150.0 RS {Ri%e10:00 Bzl (REERSR)
10:40 294 150.0 Rg| 1Ri%e10:40 B (REEREE)
11:20 294 150.0 | 1Rige11:20 Bzh (RFMERESE)
12:00 294 150.0 Rg| 1Ri%e12:00 Bz (REEES)
12:45 294 150.0 B5| Ri%e12:45 B (RRAEEEE)
13:25 294 150.0 | m5| {RiRe13:25 B GRAMERESE)
14:10 294 150.0 S| Rige14:10 Bz (REAERR)
15:00 294 150.0 Rg| 1Ri%e15:00 B (REEREE)
15:55 294 150.0 BE| 1Ri%e15:55 B (REERE)
17:05 294 150.0 B| 1Rige17:05 Bzh CGGREERESE)
B2t 4116.0 (14%) 2100.0 ¥ 33 %EC: 2080.0, PH: 5.6

MEREHERE STMAEARS (191.0 : 141.0), AEEETF—@E XAH4
ZRIAEBRIERE141.0 ml.
FHERECE (2223.0 vs 5083.0) 145



P3-13_0, Day=54 (2025-05-24)

150 Fo—————F——————F——————F-—————F-—————F——————F——————F-—————f——————f——————F-————-F—— e
VI, V& /R, ET — VI, VO, FVI, EVO, FRV, adjFRV, ET
- 2000
100 41600 1700 169845
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50 - - 1000
160 Warning: lcol [FVI',| "FVO’'] missing 40
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Warning: lcol ["WC1',  "WC2'] missing
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0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
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0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
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m=460, FV0=0 m=490, FV0=0 m=530, FV0=0

-o— ME -o— ME -o— ME
35.0 A ’
36. 2
36. 50 -
34.5 1 36. 0 -
36. 25
35. 8
34.0 1 36. 00 1
35. 6
35.75
33 5 n 35 4 N
T T T T T T T T T T T T
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37.75 37 75
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1005 1010 1015 600 800 1000 460 465 470 490 495 500
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P3-13

BYiE) | GEBIRTIK (D) | EBE (EA/#K) | XS R

06:55 300 150.0 FA| {RRi&@06:55 Bzl (kA{EEEE)
07:50 300 150.0 (2 =| 1Ri%e07:50 Bz (kHBERSE)
08:55 300 150.0 (& =| 1Ri%e08:55 Bz (kBEREE)
09:50 300 150.0 |Z=| 1Ri&@09:50 Bz (FKPBEEEE)
10:45 300 150.0 (2 =| 1BRi%@10:45 Bz (kAFERSE)
11:40 300 150.0 (B =| BRi%e11:40 Bz (GkBERSE)
12:40 300 150.0 |Z=| 1Ri&e12:40 Bz (KRBEEE)
13:40 300 150.0 FH| 1Ri%@13:40 B3h (KAERRSE)
14:40 300 150.0 FA| 1Ri%@14:40 Bzh (kAERESE)
15:45 300 150.0 FA| 1{Ri%e15:45 Bz (RAERESE)
2311 3000.0 (10)%) 1500. 0 3233 KEC: 2080.0, PH: 5.6

FERRNEREEFEBART (195.0 : 144.0), AgEHF—RE XAH5
ZRIAEBRIERL144.0 ml.

[B&REC 5252.0 K&, EiYF{KECAE&HikER

HEEIHECE (2080. 0 vs 5252.0) 5



FRV (ml plant-1)

ET (ml/hr/plant)

P3-13_0, Day=53 (2025-05-23)

R S i et el
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2145

L 2000
100
1146 223

860 - 1000

90 + 606
00

Warning: lcol [FVI',| "FVO’'] missing 160

100 A

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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